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Answers for Lesson 4-1, pp. 200-202 Exercises

1.

3.
7.
11.
14.

16.
20.
24,

25.
26.
27.

28.

/ CAB = / DAB:; 2. /GEF = /JHI,

LC = LD; LGFE = 4JIH;
/ABC = £ ABD:; / EGF = £ HII,

AC = AD; AB = AB; GE = JH;EF = HI;
CB = DB FG=1J

BK 4. CM 5. ML 6. LB
yxe 8. 2J 9. AKJB 10. ACLM
AJBK 12. AMCL 13. E,K,G N
ﬁzﬁ;ﬁzﬁ; 15. £LP= /85,20 = 4I;
LY = DE; PY = SE /L. =/D;/Y=/E
33 in. 17. 54 1in. 18. 105 19. 77

36 in. 21. 341in. 22. 75 23. 103

Yes; LRTK = LUTK, LR = LU (Given) LRKT = LUKT
If two 4 of a AA are = to two 4 of another A, the third 4
are =. TR =TU,RK = UK (Given) TK = TK

(Reflexive Prop. of =) ATRK = ATUK (Def. of = A)

No; the corr. sides are not =.
No; corr. sides are not necessarily =.

Yes; all corr. sides and 4 are =.

AB = DC, BC = AD are given. AC = AC by the Refl.
Prop. £B = 4D is given, and by the Alt. Int. £ Thm.,
£LBCA = £LDAC and £LBAC = £LDCA. So

AABC = ACDA by the def. of = A.
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Answers for Lesson 4-1, pp. 200-202 Exercises (cont.)

29.
30.
32.
34,
36.

37.

38.
40.

42.

43,

44,

45,

B

x=15¢t=2 31. 5

mlA =miD =20 33. m4B = m4LE =21
BC = EF =8 35. AC=DF =19
Answers may vary. Sample: It is important that PACH =

OLDE for the patch to completely fill the hole.

Answers may vary. Sample: She could arrange them in a neat
pile and pull out the ones of like sizes.

AJYB = AXCH 39. ABCE = AADE
ATPK = ATRK 41. AJLM = ANRZ;
ANJLM = AZRN
Answers may vary. Sample: The die is a mold that is used to

make items that are all the same size.

Answers may vary. Sample: ATKR = AMJL:
TK =MJ;TR=ML;KR=JL;LTKR = ZMJL;
LTRK = /MLJ; ZKTR = £JML

PR = TQ, PS = QS (Given), RS = TS (def. of bisect),
ZPSR = £QST (Vert. 4 are =.), ZSPR = £SQT (Alt. Int.
Z Thm.), ZPRS = £QTS (If 2 4 of a A are = to 2 4 of
another A, the third 4 are =.) So APRS = AQTS by the
def. of = A.

LA =/,D,/B=/LE(Given),mLA + miLB +m/C=
180,m4D + mZE + mZF =180 (A-£ Sum Thm.),mZA +
miB+m/lC=miD + mlE + mZF (Subst. Prop.), mZ D
+mlE+m/lC=mlD +mlE + mZF (Subst. Prop.),
mZ/C = mZLF (Subtr.)
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Answers for Lesson 4-1, pp. 200-203 Exercises (cont.)

46. KL = 4;LM = 3; KM =5
47. 2;either (3,1) or (3, —7)
48. a. 15

b. 177 L

-
A
G

e
° °
o] -
£o °
-0 o ¢
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Answers for Lesson 4-2, pp. 208-211 Exercises

1.

10.
12.
14.
16.
17.

a. Given
b. Reflexive
c. AJKM
d. ALMK

IE = GH, EF = HF:given. Fis the midpoint of GI; given.
I[F = FG by the definition of midpoint. Therefore, AEFI =
AHFG by SSS.

Itisgiventhat WZ = ZS = SD = DW.ZD = ZD by the
Reflexive Property of Congruence. Therefore, AWZD =
ASDZ by SSS.

Yes; OB = OB by Refl. Prop.; ZBOP = ZBOR since all
rt. 4 are =; OP = OR (Given); the A are = by SAS.

Yes; AC = DB (Given); AE = CE and BE = DE
(Def. of midpt.); LZAEB = £LCED (vert. 4 are =)
AAEB = ACED by SAS.

No; either PQ = QS is needed for SSS, or 2T = /R for
SAS.

Yes;since AC = AC by the Refl. Prop., the A are = by
SAS.

LG = MN 9. /T=/VorRS=WU
WV,VU M. LW

LU, LV 13. WU

/X 15. XZ,YZ

Yes; AACB = AEFD by SAS.

Yes; APVQ = ASTR by SSS.
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Answers for Lesson 4-2, pp. 208-211 Exercises (cont.)

18. LAXN = LGXR (Vert. £ are =.), AX =GX and NX =
RX (def. of midpoint),so AANX = AGRX by SAS.

19. A

20. AANG = ARWT;SAS

21. AKLJ = AMON; SSS

22. Not possible;need ZH = £P or DY = TK.

23. AJEF = ASVF or AJEF = ASFV;SSS

24. ABRT = ABRS; SSS 25. APOR = ANMO;SAS

26. GK bisects £JGM,s0/JGK = LMGK (def. of bisect.).
GJ = GM (given),and GK = GK (Reflexive Prop. of =).
AGJK = AGMK by SAS.

27. AE and BD bisect each other,so AC = CFE and BC = CD.
LACB = £DCE because vert. 4 are =. AACB = AECD
by SAS.

28. No;even though the 4 are =, the sides may not be.

29. No; you would need ZH = /K or GI = JL.

30. yes; SAS

31. /’-\ 32. /’-\

J K J K
P P
N N
M M
Lt S IR
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Answers for Lesson 4-2, pp. 208-211 Exercises (cont.)

33.

34.
35.
36.

37.

38.

39.

40.

41.

a-b. Answers may vary. Sample:

a. wallpaper designs; ironwork on a bridge; highway
warning signs

b. = A produce a well-balanced, symmetric appearance. In
construction, = A enhance designs. Highway warning
signs are more easily identified if they are =.

/ISP = / PSO; AISP = AOSP by SAS.
IP = PO; AISP = ANOSP by SSS.

Yes; AADB = ACBD by SAS; ZADB = £ DBC because
if || lines, then alt. int. 4 are =.

Yes; AABC = ACDA by SAS; ZDAC = £ ACB because
if || lines, then alt. int. 4 are =.

1. FG || KL (Given)

2. /GFK = £LFKL (If || lines, then alt. int. 4 are =.)
3. FG = KL (Given)

4. FK = FK (Reflexive Prop. of =)

5. AFGK = AKLF (SAS)

AM = M B because M is the midpt. of AB. /B = LAMC

because all right 4 are =.CM = DB is given. AAMC =
AMBD by SAS.

HG = HK + KG and KL = KG + GL by the Seg. Add. Post.
Since HK = GL, use subst. twice to get HG = GL + KG =
KL.So HG = KL and the A are = by SSS.

AMNO = AOLM by SAS. Therefore ZNMO = £LOM by
def. of = A,s0 MN || LO by the Conv. of the Alt. Int. 4
Thm.
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Answers for Lesson 4-2, pp. 208-211 Exercises (cont.)

42. Answers may vary. Sample: f\i

43. a. No; the angles are not necessarily =.

b. No;sample explanation: the 4 can be changed without
changing the side lengths.

¢. Answers may vary. Sample: a diagonal

Geometry Chapter 4
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Answers for Lesson 4-3, pp. 215-218 Exercises

1. APOR = AVXW 2. NACB = ANEFD
3. RS 4. /N and L0
5. a. Reflexive

b. ASA
6. LBAC = LDAC (given)

AC 1 BD (given)

AC = AC (Reflex. Prop. =)
£LDCA = LBCA (rt. 4 are =)
AABC = AADC (ASA)

7. OR = TS (given)
OR || ST (given)
ZTQOR = £QTS (Alt. Int. 4 Thm.)
QTR = £TQS (Alt. Int. 4 Thm.)
AQRT = ATSQ (AAS)

8. a. LUWV
b. UW
c. right
d. Reflexive

9. Itis given that ZUWT and LUWYV are right 4 and that
LT =LV.LUWT = LUWYV since all right 4 are
congruent. UW = UW by the Reflexive Property of
Congruence, so AUWT = AUWV by AAS.
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Answers for Lesson 4-3, pp. 215-218 Exercises (cont.)

10.

11.

12.

13.
15.
17.

18.
19.
20.

Vert. 4 are =.

o 9

Given

TQ = QR
AAS

LV = LY (given)
W Z bisects ZVWY (given)

WZ = WZ (Refl. Prop. =)
AVWZ = AYWZ (AAS)
PO 1 OS,RS 1L OS (given)

= L b= a2 n

T is the midpoint of PR (given)

PT = RT (def. of midpt.)

LPTQ = £LRTS (vert. 4 =)

APQT = ARST (AAS)

APMO = ANMO;ASA  14. AUTS = ARST; AAS
AZVY = AWVY; AAS 16. D

Yes;if 2 4 of a A are = to 2 4 of another A, then the 3rd 4
are =. So, an AAS proof can be rewritten as an ASA proof.

LFDE = LGHI; LDFE = LHGI
No; you also need one pair of corres. sides =.

AMON = AQOP by AAS, since ZMON and £LQOP are =
vert. 4.
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Answers for Lesson 4-3, pp. 215-218 Exercises (cont.)

21.

22,

23.

24,

25.

26.

27.

28.

AFGJ = AHJG by AAS, since £LFGJ = £ HJG because
when lines are ||, then alt. int. 4 are =, and GJ = GJ by the
Reflexive Prop. of =.

ANAEB = ABCD by ASA, since ZEAB = £ DBC because ||
lines have = corr. 4.

ABDH = AFDH by ASA since ZBDH = /FDH by def. of
Z bis.and DH = DH by the Reflexive Prop. of =.

AB || DC, AD || BC (Given), ZDAC = £ BCA (Alt. Int. /£
Thm.), ZACD = £ CAB (Alt. Int. 4 Thm.), AC = AC
(Reflexive Prop.),so AABC = ACDA by ASA.

Answers may vary. Sample: B

a. Check students’ work.
b. Answers may vary; most likely ASA.

ANAEB = ACED, ABEC = ADEA, AABC = ACDA,
ABAD = ADCB

Geometry Chapter 4 m
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Answers for Lesson 4-3, pp. 215-218 Exercises (cont.)

29. AAEB = ACED, ABEC = ADEA, ANABC = ACDA,
ANABD = ADCA, ABAD = ADCB, AABD = ADCB,
ACBA = ADAB, ABCD = AADC

30. They are £ bisectors; ASA.
31. 32 32. U

30°

Geometry Chapter 4
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Answers for Lesson 4-4, pp. 222-225 Exercises

10.

11.

. SAS; AKLJ = AOMN; LK = £L0; L] = LN;JK = NO

AABD = ACBD by ASA because BD = BD by Reflexive
Prop. of =; AB = CB by CPCTC.

AMOE = AREO by SSS because OF = OF by Reflexive
Prop.of =; M = 2R by CPCTC.

a. SSS
b. CPCTC

The A are = by SAS so the distance across the sinkhole is
26.5 yd by CPCTC.

/SPT = £ OPT, SP = OP (Given), PT = PT (Reflexive
Prop.), ASPT = AOPT (SAS), £S5 = 20 (CPCTC)

YT =YP,/C= /R, /T= /P (Given), ZCYT = /RYP
(If 2 4 of a A are = to 2 4 of another, the 3rd 4 are =.),
ACYT = ARYP (ASA),CT = RP (CPCTC)

ZPKL = ZQKL by def. of £ bisect,and KL. = KL by
Reflexive Prop. of =, so the A are = by SAS.

KL = KL by Reflexive Prop. of =; PL = LQ by Def.
of 1 bis.; ZKLP = £LKLQ by Def. of 1;the A are =
by SAS.

ZKLP = /ZKLQ because all rt 4 are =; KL = KL by
Reflexive Prop. of =;and £ZPKL = ZQKL by def. of
bisect; the A are = by ASA.

LQPS = LRSP,2Q = LR (Given), LQSP = LRPS (If 2
4 of a A\ are = to 2 4 of another, the 3rd 4 are E.),P_S =
PS (Reflexive Prop.), AQPS = ARSP (ASA), PO = SR
(CPCTC)

Geometry Chapter 4 m



© Pearson Education, Inc., publishing as Pearson Prentice Hall. All rights reserved.

Answers for Lesson 4-4, pp. 222-225 Exercises (cont.)

12.
13.

14.

15.

16.

17.

18.
19.

Yes; AABD = ACBD by SSSso LA = £C by CPCTC.
a. AP = PB; AC = BC

b. The diagram is constructed in such a way that the A are =
by SSS. ZCPA = £CPB by CPCT(C_.)Since these 4 are =
and suppl., they are right 4. Thus, CP is L to ¢.

Explanations may vary. Sample: The error is in line 4. You
cannot say AD = CD by the definition of bisect. BD is given
to be an angle bisector, not a segment bisector. Replace line
4 with:

4. BD = BD 4. = 1s reflexive.

BA = BC is given; BD = BD by the Reflexive Prop. of

= and since BD bisects ZABC, ZABD = /. CBD by def. of
an £ bisector; thus, AABD = ACBD by SAS; AD = DC by
CPCTC so BD bisects AC by def. of a bis.; ZADB = / CDB
by CPCTC and £ZADB and £ZCDB are suppl.; thus, ZADB
and Z CDB are right 4 and BD 1 AC by def. of L.

Since ¢ bisects AB at C, AC = BC. PC = PC by the
Reflexive Prop. and ZACP = ZBCP because they are rt. 4.
So APCA = APCB by SAS and PA = PB by CPCTC.

AABX = ANACX by SSS,so0 ZBAX = £ CAX by CPCTC.
—_—>
Thus AX bisects ZBAC by the def. of £ bisector.

Prove AABE = ACDF by SAS since AE = FC by subtr.

Prove AKJM = AQPM by ASA since ZP = /J and
/K = /ZQ by alt. int. 4 are =.

Geometry Chapter 4 m
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Answers for Lesson 4-4, pp. 222-225 Exercises (cont.)

20. 1. PR || MG; MP || GR (Given)
2. Draw PG. (2 pts. determine a line.)

3. ZRPG = LPGM and ZRGP = £GPM (If || lines, then
alt. int. 4 are =.)

4. APGM = AGPR (ASA). A similar proof can be written
if diagonal RM is drawn.

21. Since APGM = AGPR (or APMR = AGRM), then
PR = MG and MP = GR by CPCTC.

Geometry Chapter 4 m
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Answers for Lesson 4-5, pp. 230-233 Exercises

1. VX Conv. of the Isosc. A Thm.
2. UW:; Conv. of the Isosc. A Thm.

VY;VT = VX (Ex.1) and UT = YX (Ex.2), s0
VU = VY by the Subtr. Prop. of =.

w

4. Answers may vary. Sample: ZVUY; 4 opp. = sides are =.
5. x = 80;y = 40 6. x =40;y =70
7. x =38,y =4 8. 150;15
9. 24,48,72,96,120 10. 64
1. 21 12. 42
13. 35 14. 70
15. a. KM
b. KM
¢. By construction
d. Def. of segment bisector
e. Reflexive Prop. of =
f. SSS
g. CPCTC
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Answers for Lesson 4-5, pp. 230-233 Exercises (cont.)

16.

17.

18.

19.
20.
21.

a. RS
b. RS
Statements Reasons
1. RS bisects ZPRQ | 1. Given
2. ZPRS = ZQRS 2. Def. of bisector
3. LP=LQ 3. Given
4. RS = RS 4. Reflexive Prop. of =
5. APRS = AQRS 5. AAS
6. PR=0OR 6. CPCTC
a.

NS

30, 30, 120
b. 5;30, 60, 90, 120, 150

Answers may vary. Sample: Corollary to Thm. 4-3:

Since XY =YZ,/X=/ZbyThm.4-3.YZ = ZX,so

Y = £ X by Thm. 4-3 also. By the Trans. Prop., £Y = £ Z,
so £LX =LY = LZ. Corollary to Thm. 4-4: Since £ X = £ Z,
XY =YZbyThm.4-4. LY = /X,s0YZ = ZX by

Thm. 4-4 also. By the Trans. Prop., XY = Z X, so
XY=YZ=/ZX

C
x = 60;y = 30
x = 36;y = 36

Geometry Chapter 4 m
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Answers for Lesson 4-5, pp. 230-233 Exercises (cont.)

22,
23.

24,
25,

26.

27.
28.
29,

30.
32.
33.

35.
36.

x = 30;y = 120

Two sides of a A are = if and only if the 4 opp. those sides
are =,

80, 80, 20; 80, 50, 50

a. 1SOSC. A

b. 900 ft; 1100 ft
¢. The tower is the L bis. of the base of each A.

No; the A can be positioned in ways such that the base is not
on the bottom.

45; they are = and have sum 90.
LA = LD by the Isos. A Thm. AABE = ADCE by SAS.

AC = CBand ZACD = /DCB are given. CD = CD by the
Refl. Prop. of =,s0o AACD = ABCD by SAS.So AD = DB
by CPCTC, and CD bisects AB. Also ZADC = /BDC by
CPCTC,m£LADC + m£ZBDC = 180 by £ Add. Post., so
m/ADC = mZ BDC = 90 by the Subst. Prop. So CD is the
1 bis. of AB.

m = 36;n = 27 31. m = 60;n = 30
m=20;n =45

(0,0),(4,4),(—4,0), 34. (5,0);(0,5);(—5,5);
(0, —4),(8,4), (4,8) (5, —5); (0, 10); (10, 0)
(5,3);(2,6);(2,9):(8,3); (=1,6); (5,0)

a. 25

b. 40;40; 100

c. Obtuse isosc. AA; 2 of the 4 are = and one Z is obtuse.
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Answers for Lesson 4-5, pp. 230-233 Exercises (cont.)

37. The L bis. of the base of an isosc. A is the bis. of the vertex
Z; given isosc. AABC with L bis. CD,/.ADC = £BDC and
AD = DB by def. of L bis. Since CD = CD by Refl. Prop.,
AACD = ABCD by SAS.So LACD = ZBCD by CPCTC,
and CD bisects 2 ACB.

38. a. 5
b.

16 8

16 8

8
39. 0 < measure of base £ <45

40. 45 < measure of base £ <90

Geometry Chapter 4 m
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Answers for Lesson 4-6, pp. 237-239 Exercises

1. AABC = ADEF by HL. Both A are rt. A, AC = DF, and
CB = FE.

2. ALMP = AOMN by HL. Both A are rt. A because
vert. 4 are =; LP = NO,and LM = OM.

3. £T and £Q are rt. 4.

4. RX =RT or XV =TV

a
b.
C.
d.

e.

. = suppl. 4 are rt. 4

Def. of rt. A
Given

Reflexive Prop. of =

HL

6. Given that 2D and £B are right 4, AADC and ACBA are
right A by the def. of rt. A. AC = AC by the Reflexive Prop.

of

= and AD = CB is given. Therefore, AADC = ACBA by

HL.

o 9

o N

®

Geometry

Given

Def. of L

AMLJ and AKJL are rt. A.
Given

L] =LJ

HL

.................................................. TERAPall o0 |
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Answers for Lesson 4-6, pp. 237-239 Exercises (cont.)

8.

10.
11.
12.

13.

14.

15.

16.

Given that HV 1 GT and GH = TV, then AIGH and
AITV are right A by the def. of rt. A. It is given that [ is the
midpoint of HV ,so HI = VI by the def. of midpt.
Therefore, AIGH = AITV by the HL Thm.

HL; each rt. A has a = hyp. and side.

x=3y=2
x=-1y=3
whether the 7-yd side is the hyp. or a leg

It is given that RS = TU, RS 1 ST, TU 1 UV, and that Tis
the midpoint of RV. ARST and ATUYV are both right
triangles by the definition of a right triangle. RT = TV by
the definition of midpoint. Therefore, ARST = ATUV by
HL.

1. JM = WP (given)
JP | MW (given)

JP 1 PM (given)
AJPM and APMW are rt. A (def. of rt. A)

PM = PM (Reflex. Prop. of =)

AJPM = APMW (HL)

PS = PT so 2§ = /T by the Isosc. A Thm.
/ PRS = /PRT. APRS = APRT by AAS.

\[!)/ 17. 4 )

AN O i
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Answers for Lesson 4-6, pp. 237-239 Exercises (cont.)

18. ~ ] 19.

EB = DB; ZA and £C are rt. 4. (Given)
ABEA and ABDC are rt. A. (Def. of rt. A)
B is the midpt. of AC. (Given)

AB = BC (Def. of midpt.)

ABEA = ABDC (HL)

LO bisects ZMLN,OM 1 LM,ON L LN, (Given)
/M and £N are rt. 4 (Def. of 1)

LMLO = ZNLO (Def. of £ bis.)

LM = LN (Allrt. 4 are =.)

LO = LO (Reflexive Prop. of =)

6. ALMO = ALNO (AAS)

21.

i A W N =2 U &~ WDN=

22. Answers may vary. Sample: Measure 2 sides of the A formed
by the amp. and the platform’s corner. Since the A will be =
by HL or SAS, the 4 are the same.

Geometry Chapter 4 m



© Pearson Education, Inc., publishing as Pearson Prentice Hall. All rights reserved.

Answers for Lesson 4-6, pp. 237-239 Exercises (cont.)

23. a. y

|
0
|
o
|
=
]
N
(V1)) (@)l B )
¥

(-4, <4)|G

(=2, -+6)F

b. slope of DG = —1; slope of GF = —1; slope of GE = 1
¢. LEGD and ZEGF are rt. 4.
d. DE = V26, FE = \/26

e. AEGD = AEGF by HL. Both A are rt. A,
DE = FE,and EG = EG.

24. An HA Thm. 1s the same as AAS with AAS corr. to the rt.
Z,an acute Z, and the hyp.

25. Since BE L EAand BE 1 EC, AAEB and ACEB are
both rt. A. AB = BC because AABC is equilateral, and
BE = BE. AAEB = ACEB by HL.

26. No: AB = CB because AA_EB = ACEB, but AC doesn’t
have to be = to AB or to CB.

Geometry Chapter 4 m
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Answers for Lesson 4-7, pp. 243-245 Exercises

1.
4.

10.

LM 2. DF 3. XY

VN N
7N\

a. Given

b. Reflexive Prop. of =
¢. Given

d. AAS

e. CPCTC

Plan: Two pairs of sides are =. The third sides are the same
segment. Use SSS.

Proof: It is given that RS = UT and RT = US. ST = ST by
the Reflex. Prop. of =. ARST = AUTS by SSS.

Plan: Two sides and two angles are =. The other included
sides are the same segment. Use SAS.

I

Proof: It is given that OD = UA and LQDA = LUAD.

DA = DA by the Reflex. Prop. of =. AQDA
SAS.

AQET = AQEU by SAS if OT = QU. QT and QU
are corr. parts of AQTB and AQUB which are = by ASA.

I

AUAD by

Geometry Chapter 4 m
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Answers for Lesson 4-7, pp. 243-245 Exercises (cont.)

11.

AADC = AEDG by ASA if LA = LE. LA and LE are
corr. parts in AADB and AEDF, which are = by SAS.

12-15. Answers may vary. Samples are given.

12.

14.

15.

16.
17.

18.

19.

20.
21.

& %A
- & .
&

30D

1. AC = EC;CB = CD(Given)

2. LC = £C (Reflexive Prop. of =)
3. AACD = AECB (SAS)

4. LA = LE (CPCTC)

PO = RQ and £PQT = £LRQT by Def. of L bisector.

OT = QT so APQT = ARQT by SAS. P = /R by
CPCTC. OT bisects 2VOS so LVQOT = +/SOT and LPQT
and ZRQT are both rt. £.So LVQOP = ZSOR since they
are compl. of = 4. APQV = ARQS by ASA so QV = QS
by CPCTC.

msl = 56;ms2 = 56;ms3 = 34;mL4 = 90;mLS5 = 22;
mi6 =34 mlT =34, mL8 = 68;mL9 = 112

AABC = AFCG; ASA

TD = RO if ATDI = AROE by AAS. £ TID = £REO
if ATEI = ARIE. ATEI = ARIE by SSS.
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Answers for Lesson 4-7, pp. 243-245 Exercises (cont.)

22. AE = DEit AAEB = ADEC by AAS. AB = DC and
/A = /D since they are corr. parts of AABC and ADCB,
which are = by HL.

23. a. AD = BC;AB = DC; AFE = EC;DE = EB

b. Use DB = DB (refl.) and alt. int. 4 to show
NADB = ACBD (ASA). AB = DC and AD = BC
(CPCTC). AAEB = ACED (ASA) and AAED =
ACEB (ASA).Then AE = EC and DE = EB (CPCTC).

24. NACE = ABCD by ASA; AC = BC, /A = /B (Given)
£ C = £C (Reflexive Prop. of =) AACE = ABCD (ASA)

25. AWYX = AZXYbyHL; WY LYX, ZX LYX, WX =ZY
(Given) LWYX and £ZXY are rt. 4 (Def.of 1) XY = XY
(Reflexive Prop. of =) AWYX = AZXY (HL)
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	GE0401SA.pdf
	GE0402SA.pdf
	GE0403SA.pdf
	GE0404SA.pdf
	GE0405SA.pdf
	GE0406SA.pdf
	GE0407SA.pdf

